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intA! R 1015 (Decimal) %d 2 byte
double®! fZ¥kEEEEEK (Long Floating decimal point) %f (%e) 8 byte
char®! 3t (Character) %c 1 byte
long®Y {EFEEEH: (Long Decimal system) %ld 4 byte
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#include “stdafxh ”  /4C DD ESISRTEIE EBIER */
int _tmain(int argc, TCHAR * argv[ 1 ) /* Aya®hHRAL T */

EITRIITEDENAEIRIZFEOTLND

L 3 EITHE
int b; 60
a=10;

b=a+50;

printf( “%d”, b )=
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return O;
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printf (“abc¥n ") ;
printf (" Y%d¥n ”, 10);
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int a=10;
printf (" %d¥n", 10); EITHR:
printf (" %d¥n", a); 10

printf ("adDE(X %d TIT¥n", a); 10
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#include “stdafxh ”  /*COITDOLSITRIXFEIZEBIER */
int _tmain(int argc, TCHAR* argv[] ) /* hyadhhA AL 3T x/
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printf(” %d¥n ”, 10); |

printf(” %d¥n ”, a); _
printf(” adfE (& :‘:m fﬂ a DEEZRT
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int a; F—R— KA SANINEXFO
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scanf ("%d ", &a);
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#include “stdafx.h ” /*ZDITDLSIT#RICFITBENER */
int _tmain(int argc, TCHAR* argv[]) /* Aya®D AR AL 3 */
{

int data; —
scanf(” %d ”, &data);

printf("WVEA NS I-{EIL %d T ¥n ", data);
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return O;
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int _tmain(int argec, _TCHARX*
{

#include “stdafx.h ” /*ZDITDLSIZ#RICFITBENER */

argv[l) /% Ay AL x/

int a,b,c;
printf(” input a——>");

scanf(” %d ”,&a);
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printf(” input b——> ”);
scanf(” %d ”,&b);
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c=a+b;

printf(” a+b = %d ¥n “,c);

return 0;
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